        Distance vs. Displacement 
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	A soccer coach pacing the side line starts at position A, on the 50-yard line, and paces to position B, then C, then D, and finally, to position E.  

	Leg
	Distance
	Displacement

	A - B
	10 m + 10 m + 10 m + 10 m = 40 m
	∆x = xf – xi = 10 m – 50 m = -40 m

=  40 m west

	B - C
	
	

	C – D
	
	

	D - E
	
	

	A - E
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	The graph to the right represents the position as it varies with time for a squirrel on a tightrope.    

	Leg
	Distance
	Displacement

	0 – 5 seconds
	
	

	5 – 10 seconds
	
	

	10 – 16 seconds
	
	

	10 – 20 seconds
	
	

	0 – 20 seconds
	
	


